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S.No Unit Qns Total marks

Grammar and | Language Function, Collocations, Syllable,
Passive voice, Verb forms, Prefixes/Opposites,
Parts of Speech, Phrasal verb, Degrees, If Clause, 16 16
Question tag, Articles, Prepositions, Linkers, Correct
form of word, Letter

composition

Lesson.1 A Hero 2
Lesson.2 There’s a Girls by the Tracks 2
Lesson.3 Gentleman of Rio en Medio 2
Prose-14 marky Lesson.4 Dr. B. R. Ambedkar 3 14 marks
Lesson.5 The Concert 2
Lesson.7 Colours of Silence 3
Poem,1 Grandma Climbs a Tree 2
Poem,2 Quality of Mercy 2
Poetry-10 marks Poem,4 The Song of India 2 08 marks
Poem,5 Jazz Poem Two 1
Poem,6 The Blind Boy 1
S.R.-1 Narayanpur Incident 1
5-R.-2 marks S.R.-3 A Great Marty Ever Cherished 1 2 marks

TOTAL 40 40 Marks

Grammar — 14 MCQ

41. ‘I don’t agree with you.’

The language function of the above sentence is...............
A. accepting an opinion B. disagreeing an opinion
C. seeking permission D. an order
43. The word which collocate with ‘Xeroxis .........
A. pen B. power

C. man D. copy



42.

44,

45.

46.

47.

48.

49.

50.

ol.

How many syllable/s does the word ‘tomato’ have?
A. two B. one
C. four D. three

Someone had stolen your pen.
The passive form of the above sentence is
A. Your pen had been stolen by everyone.
B. Your pen is stolen by everyone.
C. Your pen was stolen.
D. Your pen has been stolen.

In future, I will ............... (bet+work) for the poor.
The appropriate tense form of the verb to be used here is
A. be working B. is working
C. was working D. been working
Which of the followings take the prefix ‘un’
A. stop B. septic
C. lead D. popular

Actually, he is not a dancer.
The parts of speech of the underlined word is a/an

A. verb B. adverb
C. adjective D. preposition
Don’t........... the system, I have some work to prepare.
The correct phrasal verb to be used here is
A. log off B. log at
C. log of D. login

We did not pay the bill in counter.
The positive form of the above sentence is
A. In counter the bill not paid by us.
B. The bill was not paid by us in the counter.
C. The bill is not paid by us in the counter.
D. The bill did not paid by us in the counter.

If I don’t give you money, whom .......... you ask?

The correct words to be used here to complete the ‘if’ clause sentence are

A. will B. will have
C. would D. would have

He hardly works at night, ...........
The question tag to be used here is
A.isn’t he? B. has he?
C. doesn’t he? D. does he?



52. 1 wanted to become

PSI but have become

The articles to be used here are

A. a, the

C. the, the

B. the, a
D.a,a

53. Before Covid, the children used to come to school ........

The preposition to be used here is

teacher.

bus.

A. by B. for
C. from D. into
7 N the machine broke down three weeks ago, no one has come to repair it.
The conjunction to be used here is
A. So B. Unless
C. Although D. Because
55. She usually wears a ...... .... (colour) dress.
The correct form of the word to be used is
A. colourful B. colourfully
C. colour D. colours

56. In a formal letter, ‘Respected sir’ is known as
A. salutation B. subscription
C. subject D. from address
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